

$$ru^r + y^r - \varepsilon u + y + k = 0 \quad \leftarrow \text{نريد } \varepsilon$$

$$ru^r - \varepsilon u + y + y^r + y + q = 0$$

$$r(u-1)^r + (y+r)^r = 0$$

$$\left. \begin{matrix} y = -r \\ u = 1 \end{matrix} \right\} \Rightarrow \text{نريد } \varepsilon \rightarrow \boxed{k=11 \text{ أو}} \leftarrow$$

$$\begin{cases} u^r \in \mathbb{R} : u \geq a \\ y + a + r : u \leq a \end{cases} \quad u=0 \rightarrow f(a) = a^r + \varepsilon a = r a + r$$

$$a^r + a - r = 0$$

$$\rightarrow a = \begin{cases} 1 \\ -r \end{cases}$$

$$f(1) = ? \quad \underline{a=1} \rightarrow r + \varepsilon(1) = \boxed{11}$$

$$f(u) = \begin{cases} ru^r - b & ; |u-1| \geq r \rightarrow \begin{cases} u \geq 1 \\ u \leq -r \end{cases} \\ a + ru & ; -r \leq u \leq 1 \end{cases}$$

$$u = -r \rightarrow f(-r) = r(-r)^r - b = a + r(-r)$$

$$11 - b = a - 4$$

$$\boxed{a + b = 15}$$

$$a + b = ? \quad r \in$$

$$f(u) = \sqrt{4u-a} + \sqrt{b-ru} \quad \begin{matrix} 4u \geq a & b \geq ru \\ u \geq \frac{a}{4} & \frac{b}{r} \geq u \end{matrix}$$

$$D_f = \{r\}$$

$$\rightarrow \frac{a}{4} \leq u \leq \frac{b}{r} \left\{ \Rightarrow \frac{a}{4} = \frac{b}{r} = r \right.$$

$$D_f = \{r\} \quad b = \frac{r}{4}a \rightarrow \boxed{\frac{b}{a} = \frac{1}{4}}$$

$$\frac{b}{a} = ? \quad \frac{1}{r}$$

$$y = \sqrt{\frac{u+1}{u-1}} + \sqrt{\frac{4-u}{u+r+1}} \rightarrow (u+1)^r + r = 0$$

$$\frac{-r+1}{-1-1+1} \cap \frac{4}{+1} = D_f$$

$$D_f = [-1, 4] - \{r\}$$

$$\begin{matrix} \sqrt{2} \sqrt{[u]-\varepsilon} + \sqrt{r-[u]} \\ [u] \geq \varepsilon & r \geq [u] \\ u \geq \varepsilon & r \geq u = D_f \end{matrix}$$

$$D_f = \emptyset$$

$$y = \sqrt{\frac{(x-r)(x-r)}{(x-r)(x-r)}} = \frac{(x-r)}{(x-r)}$$

$$D_f = (-\infty, -r) \cup (r, +\infty) - \{r\}$$

$$y = \sqrt{\frac{(x-r)(x-r)}{(x-r)(x-r)}} = \frac{(x-r)}{(x-r)}$$

$$D_f = (-\infty, -r) \cup [-r, r] \cup (r, +\infty)$$

$$\sqrt{[-n]-r}$$

$$[-n] \geq r$$

$$-n \geq r$$

$$n \leq -r \rightarrow D_f = (-\infty, r]$$

$$y = \frac{\omega u^2 + y}{[u]^2 - r[u] - r}$$

$$[u]^2 - r[u] - r \neq 0$$

$$([u] - r)([u] + 1) \neq 0$$

$$[u] \neq r, -1$$

$$u \neq [r, \varepsilon) \cup [-1, 0)$$

$$D_f \subset \mathbb{R} - [r, \varepsilon) - [-1, 0)$$

$$y = \frac{Gt+1}{\tan+1}$$

$$\left. \begin{matrix} Gt = \frac{G_S}{\sin} \\ \tan = \frac{\sin}{G_S} \end{matrix} \right\} \begin{matrix} G_S \neq 0 \\ \sin \neq 0 \end{matrix} \left\} \frac{k\pi}{\varepsilon}$$

$$\tan+1 \neq 0$$

$$\tan \neq -1$$

$$D_f = \mathbb{R} - \left\{ \frac{k\pi}{\varepsilon}, k\pi - \frac{\pi}{\varepsilon} \right\}$$

$$y = \sqrt{1 - \varepsilon \sin^2}$$

$$1 \geq \varepsilon \sin^2$$

$$\frac{1}{\varepsilon} \geq \sin^2 \rightarrow -\frac{1}{\sqrt{\varepsilon}} \leq \sin \leq \frac{1}{\sqrt{\varepsilon}}$$

$$D_f = \mathbb{R} - \left[r k \pi + \frac{\pi}{\sqrt{\varepsilon}}, r k \pi + \frac{\omega \pi}{\sqrt{\varepsilon}} \right]$$

$$y = \sqrt{1 - \log \frac{n-1}{r}} \rightarrow n-1 \geq 0$$

$$n \geq 1$$

$$1 \geq \log \frac{n-1}{r} \rightarrow n-1 \leq \frac{1}{r} = \frac{1}{r}$$

$$n-1 \leq \frac{1}{r}$$

$$n \leq \frac{r}{r} \quad D_f = \left(1, \frac{r}{r}\right]$$

$$y = \frac{\sqrt{x^2 - u^2}}{1 - \log \frac{x^2 - u^2}{\varepsilon}} \rightarrow x^2 \geq u^2 \rightarrow x \geq 1$$

$$1 \neq \log \frac{x^2 - u^2}{\varepsilon} \rightarrow x^2 - u^2 \neq \varepsilon$$

$$x^2 - u^2 - \varepsilon \neq 0$$

$$u \neq -1, \varepsilon$$

$$D_f = (-\infty, 0) \cup (r, +\infty) - \{-1, \varepsilon\}$$

$$y = \sqrt{\frac{(x-r)(x-r)}{(x-r)(x-r)}} = \frac{(x-r)}{(x-r)}$$

$$r(x-r) \geq \Lambda$$

$$r(x-r) \geq r^2$$

$$x-r \geq r \rightarrow x-r+\varepsilon \leq \cdot$$

$$1 < x \leq r$$

$$D_f = [1, r]$$

$$y = \left(\frac{r(u+d)}{r(u+\varepsilon)} \right)!$$

$$\frac{r(u+d)}{r(u+\varepsilon)} \in \mathbb{W}$$

$$u \in \frac{r\mathbb{W} - d}{r\mathbb{W} - r}$$

$$D_f = \left\{ u \mid u \in \frac{-\varepsilon k + d}{rk - r}, k \in \mathbb{W} \right\}$$